100 GF Synchro

Fitting for 2 synchronously opening glass doors up to 100 kg (220 Ibs.), with surface
mounted running track. Wall or ceiling mounting. With fixed glass support profile.

Product highlights

“Tﬁ Flexibility Standard applications can be extended with
the Synchro option

{pr Comfort Two simultaneously sliding doors make large,

fully accessible openings possible

Technical specifications

[ Max. 100 kg (220 Ibs.)
o Max. 2700 mm (8'10 5/16")
€5 Max. 1200 mm (3'11 1/4") /%\

Sfe 8-12.7 mm (5/16" to 1/2") 4/

Installation examples

65
9.
05 26
59
5.
23 |
8|28 q 2Hmile
= 3| :
oS> R _# e
O S : Ay ® ® Q@L
CH Gy J b | ™
e s Q - - 5
® s L Slas g[Fe = o
= =l i . 5
Ll B
8-12.7
@] . ) N L
Su_lu 94 19,
D (15" -2") 3| b -|4 18 124 44 124 35 _l10
- 23 7 2. 7 30 (134
@ (8-10) k7 4 13 4 L)
5. 13
@ -3") @ 3
81 101 18 [10[ 19 |5
@(0-12.7) % 13% Lé 13% X 32
130 _1u 1
@z -2") -

(®10- 12.7mm Glas, Nassversiegelung mit Silikon
10- 12.7mm glass, wet caulking with silicone
10- 12.7mm verre scellage au mouillé avec silicone|
Art. No. 098.0027.000

tgﬁ
6
I
s

SES S
2|7 ~
| ol
ik b
el @ gl e
3| =
3= 2 = )
§ a é 2 Kantenschutz anbringen!
oo = Fit edge protector!
88 S a8 Mettre un protége-aréte
[GIRG) (&)
50
130
ol 32
SrE = @ D) ~ |y ~yoly { ol Ty
O Sy B fY S b 4 ™
=28
e @\ ‘.
20 35 04
B 43
16 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 477



100 GF Synchro

Set for ceiling or wall mounting,

for 1 glass door up to 100 kg (220 Ibs.) (order 2x)

No.

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

~
e
g No.
@
5
Set consisting of: o
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white
Sto'pper, WIﬂ"I retention 1 | 057.3073.072
spring, plastic, gray
Sto.pper, W|thout retention 1 | 057.3073.071
spring, plastic, gray
Suspension bolt, M8x32
mm (5/16"x1 1/4"), steel, 2 | 057.0123.104
zinc-plated
Hexagon locking nut, M8,
>
(=2 steel, zinc-plated 2 | 768.9005.101
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075
(5/16"-1/2")
Hexqgon screw, M6x20 mm, > | 762.9480.000
plastic, white
S Hexagon jam nut, M6, steel,
©) zinc-plated 2 | 768.2001.101
/l Bottom guide, playfree
%fﬁ adjustable, chrome-plated, 1 | 057.3030.071
& matt
Wall buffer, 19x10 mm
(3/4"x13/32"), rubber, black | | | 924:0002.046
Countersunk head screw,
?@%@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120

steel, zinc-plated

478

Synchro set

No.

Hawa Porta 100 G Synchro, for 2 doors

057.3075.071

~
Q
g No.
@
mm =
Set consisting of: (inch) =}
‘% "rg‘y Cable holder, aluminum 1 | 057.0130.071
=2 =
Mountmg plate, steel, 5 | 057.0144.101
S zinc-plated
' Deviating roller, ball bearing | 2 | 055.0101.001
Cable safety, steel,
ep zinc-plated 2 | 056.0124.101
Kevlar cable,
D=2.5mm 3;2?1(/)12 1| 752.0059.104
(3/32") ( )
Protectiv edge
trim, plastic, 2,700 1 | 057.3080.001
(8'105/16")
black
PT Rounded head screw,
% 5x12 mm (3/16"x15/32"), 2 | 762.9456.100
steel, zinc-plated
Head cap screw,
g M5x16 mm (3/16"x5/8"), 2 | 763.0512.116
steel, zinc-plated
Running tracks
mm
(inch) No.
2,500 | 457.3053.250
(8'2 7/16")
3,500
Running track fixed (11'5 25/32") 057.3053.350
glass, aluminum,
pre-drilled 6,000 1 457 3053.600
(19'8 7/32")
cutto | 557 3053.990
size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




100 GF Synchro

Panels Clip-on components
mm No.
inch No.
(inch) © Clip component for wooden and
2,500 aluminum panel, every
g2 ey | 007-3080.250 500 mm (1'7 11/16), 057.3117.001
aluminium, pre-drilled
// o | mi’fsi”) 057.3050.350
ip-on panel, .
alurr)ninurrr)L anodized 6.000 Panel end component set, 64.5 mm (2 9/16"), aluminum
’ 057.3050.600
(19'8 7/32") No.
cut to "
sive 057.3050.990 Panellend component .set, 64.5 mm (2 9/16"), 057.3052.072
one-sided, wall mounting
Scre_enlng se._all for 20,000 057.3078.002 o
fascias, plastic, black | 5 7 13/32") o
g No.
@
Fixed glass support profiles Set consisting of: §
Ul Panel end component,
(inch) No. 64.5 mm (2 9/16"), 1| 057.3052.902
aluminum, anodized
(8,2;5722“) 057.3056.250
Bracker connector, steel
3,500 &~ . S 12 | 057.3051.101
/ Fixed g|ass prof”/ (11" 5 25/32%) 057.3056.350 ZInC—pIated
uide track,
> gluminum, anodized, 6,000 057.3056.600 ) Screw, M4x2.6 mm (
pre-drilled (19:87327) | OO0 5{32I x1/8 ),I o 4| 011.0101.171
steel, zinc-plate
outto | 057.3056.990
2500 Panel end component set, 70.5 mm (2 25/32"), aluminum
Fixed glass support (8.2’ 7716") 057.3057.250 N
profile, aluminum, ©:
anodized, pre-drilled | CUt10 | 5573457 999 Panel end component set, 70.5 mm (2 25/32"), 057.3052.073
size one-sided, ceiling mounting ’ ’
Sealing profile
for fixed glass ™
support profile, glass | 20,000 057.3072.001 S
thickness 8-10 mm (65'713/32") ’ ’ S No
(5/16"-13/32"), 3 .
plastic, black S
Set consisting of: o
Set fixi t Panel end component,
et fixing se 70.5 mm (2 25/32"), 1 | 057.3052.903
aluminum, anodized
No.
Fixing set, aluminum, anodized, Bracker connector, steel,
for fixed glass support profile 057.3057., 057.3076.071 zinc-plated 2 | 057.3051101
fixed glass profil/guide track 057.3056.
- Screw, M4x2.6 mm
(5/32"x 1/8"), 4| 011.0101.171
~ ‘ steel, zinc-plated
S
g No. .
@ Accessories
N~
Set consisting of: 3 No.
Cover, aluminum, anodized | 2 | 057.3062.001 Bottom door stopper, with 20773
centering, chrome-plated, matt
Thread rolling rounded
head screw, M4x10 mm .
&Eﬂ% (5/32"x13/32"), steel, 15| 762.7008.100 %@ Track cleaner, plastic, blue 057.3099.071

zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

479



100 GF Synchro

Wooden panels Calculations of panels
66 035 Schiene/Track/Rail 9 Schiene/Track/Rail 9
1 1
50 D D
05 % 32 2
59
o i ) B
Yy A
9|y : 3
Gles 3|
Q|5 > &c\é‘v“a 5
0= 1 = Clipblende/Clip fascia/Cache & clipser Clipblende/Clip fascia/Cache a clipser
SNy = Schiene/Track/Rail + 7 (3972‘-) ) = Schiene/Track/Rail + 7 (") )
= ‘Q:‘g J i 1u
510 16 76
@(8-127) s ) Schiene/Track/Rail 13 ‘ 156
5. 1. : +4 8|8
CD(E -5 ) 3%. 9u an
® (8-10)
5. _13u
Q' -%') @ 43
R 81l [10[ 18 [10] 21 | S | =
@10-12.7) 2o %g 2 k2 |2k
130 _1u 2 16 32
®(5" 7" .
(® 10- 12.7mm Glas, Nassversiegelung mit Silikon
10- 12.7mm glass, wet caulking with silicone Holzblende/Wooden fascia/Cache en bois
10- 12.7mm verre scellage au mouillé avec silicone = Schiene/Track/Rail + 19 (3.. )
Att. No. 098.0027.000 4
Bottom door stopper
Einbauvariante
Mounting version
Variante de montage
Calculations
Schienenldnge/track length/Longueur du rail S=(2xR0) + 120
Schienenlénge/track length/Longueur du rail S=(2xR0) + 45"
Rahmenéffnung/frame opening/Ouverture du cadre = RO
—_—
50 50
1:3!72% 35” 1%\.
TB=RO+9  TB=RO+3% 4| 8
2 2 5
32
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Ttire )
In the middle 1 stopper with retention spring ( right door )
10 Dans le centre 1 butée avec force ( porte & droite ) 10
) C

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

480 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



